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FRE 1. LTOfRF5oL —F L/MEfiZ RO K, 72720, ¥ BRFFSWERINLITL7 7Ry F2£T,

1. ¥ = {0,1}, ¢, = {0111,1011,1101,1110}.

2. ¥ ={a,b,c,...,z}, Cy = {hyogo, osaka, kyoto, tokyo}.

3.2 ={0,1}, C3 = {(21,...,76) €{0,1}°: [{i eN:2; =0} = |[{i e N:z; = 1}|}.

4. % ={00,01,10,11}, Cy = {(z1,...,26) € {0,1}0 : {i e N:2; =0}| = |{i € N: z; = 1}|}.

MR 2. UTOWEZLI/HT2 1 2% F X, 2L, f5E7Lv7 7y F {0,1} ETERINLbDL
I35,

1. fFaRk4TL—F2 1 O,
2. fF5E 4 TL— 123 0 OfF 5.

7 3. Hamming HiffCB 3 2 DUT O MWH 2 atWie X,

1. FBD z,y,2 € " XN LT, d(z,y) < d(z,z)+d(z9).



